
[Chapter 7] 

 
Where’s the error? 

 
The doctor has written an order for 375 mg of cephalexin to be given to a patient every 8 
hours.   Hasty Henry used the formula method to calculate the amount to administer in 
teaspoons. Here is Henry’s work. 
 

D = 375 
 
Q = 5 
 
H = 250 
 
375  x  5  =  A 
250 
 
7.5 =  A 

 
 
Henry is going to administer 7.5 teaspoons of medication to the patient.  This seems a 
little excessive, so he double checks his math and finds no errors.  He comes to you for 
help.  What is the correct dose?  Where is the error? 
 
 
 

 


